BRITAIN 1895–1951

Answering Questions at AS Level

When you are preparing for the AS examination, remember that you will be asked to engage in extended writing. For Edexcel and OCR, you will be expected to produce an essay-style answer. For AQA, you will be expected to answer a structured question of two parts on the same topic.

The differences and similarities between GCSE and AS History are explained on pages 4 and 5 of your Britain 1895–1951 textbook.

Here are two examples of AS examination questions, one in the style of AQA and one in the style of OCR A.

In each case, an example answer is given. Within the body of the answer there are comments that highlight the strengths and weaknesses of the answer.

At the end of each answer a mark is awarded.

Information on how to answers these questions is contained on pages 5 and 7 of your Britain 1895–1951 textbook.

AQA

HISIL 
Britain 1906–1951

The examination time is 1 hour and 15 minutes, during which you will be expected to answer two structured questions. You should therefore answer the following structured question in approximately 35 minutes.

One-third of the marks for this question are available for sub-question (a) and two-thirds for sub-question (b). You should therefore spend approximately 10–15 minutes on (a) and approximately 20–25 minutes on (b).

(a) Explain why the General Strike took place in May 1926?

(12 marks)

In May 1926 the Trade Union Congress called a general strike of all its members. For 9 days the country was brought to a virtual standstill.

So why did Britain experience a general strike?

COMMENT

This introduction provides a clear link to the question. Although short, it provides a general historical context and ends with a rhetorical question, which offers an introduction to an explanation and evaluation of why the General Strike took place.

LINKS TO 

Britain 1895–1951, pages 90–96.
The main cause of the General Strike was problems in the coal industry. Following the First World War, the coal industry faced many problems, the biggest being overproduction. Several attempts had been made by the government to deal with the problem. One of these was to give a government subsidy to the coal industry as a bid to sustain the wage levels of miners. This was made in the Samuel Commission, a government inquiry into the mining industry which reported in 1925. However, the subsidy was to last only 9 months. Therefore, in the spring of 1926, the subsidy came to an end.

As a result, the miners went on strike and were supported by other trade unions in the Trade Union Congress.

COMMENT

This paragraph deals directly with the question. It prioritises the reasons why the strike took place through direct reference to the immediate cause of the strike and how this immediate cause was linked to problems within the coal industry.

LINKS TO 

Britain 1895–1951, pages 94–96.
However, there were also other reasons for the strike. Following the end of the First World War, the British economy found it difficult to recover its former markets. The War had disrupted trade in Europe. Also, former markets were now affected by competition from cheap coal from Poland. Also, the level of trade had fallen. This meant employers had to cut costs in order to survive.

This involved laying off workers or reducing their wages. This process was called rationalisation. Trade unions attempted to defend their workers by opposing this policy. From 1919 to 1926, Britain was affected by union militancy with many strikes and industrial confrontations.

COMMENT

This paragraph introduces other more longer--term causes of the General Strike by placing the origins of the Strike within the historical context of the economic history of Britain following the First World War.

LINKS TO 

Britain 1895–1951, pages 90–94.
Therefore, although the immediate cause of the General Strike was problems in the coal industry, its more long-term cause was problems in the British economy following the First World War.

COMMENT

This is a rather short but focused conclusion. It offers a brief summary of the reasons and is linked, in general terms, to the command term in the question of providing explanations for the General Strike. This paragraph would have been better had it contained a more pointed evaluation through identifying the main cause of the General Strike.

Level of Performance

This answer is well focused, identifying a range of specific explanations, backed by some precise evidence and demonstrates a good connection and link between issues. It is well written and organised.

This answer was awarded a mark in level 4: 10 out of 12 marks.

(b) How severe was the impact of the Depression on British society in the 1930s? 

(24 marks)

A general view of Britain in the 1930s was that the whole country faced major economic depression, but was this really the whole story?

COMMENT

This introduction provides a clear link to the question. Although very short, it does offer a link to an explanation and evaluation of the question in subsequent paragraphs.

LINKS TO 

Britain 1895–1951, pages 97–99.
In parts of Britain, economic hardship was the norm in the 1930s. Mass unemployment and poverty affected large areas. Many people were forced to rely on government handouts and had to suffer the means test to see if they were sufficiently poor to received government support. These areas included northern England, South Wales and the central lowlands of Scotland. These areas were badly affected by the major downturn in world economic activity after 1929. They were areas that were heavily dependent on export or staple industries such as coal mining, textile production and ship building. In some areas, such as West Cumbria, unemployment levels reached 60 per cent in the early 1930s.

COMMENT

This paragraph deals directly with the issue of severe economic depression. It offers a brief description of what depression involved and also identifies specific areas and specific industries that were affected by depression.

LINKS TO 

Britain 1895–1951, pages 97–99.
A person who highlighted the fate of this type of area was novelist George Orwell. In 1936 he published ‘Road to Wigan Pier’ that highlighted the very poor living conditions in areas such as Wigan, which were dependent on the coal industry. These areas suffered severe economic hardship.

COMMENT

This paragraph offers evidence of depression. It would have been better to include this in the previous paragraph as it provides evidence of the extent and location of the depression.

LINKS TO 

Britain 1895–1951, pages 97–99.
However, not all of Britain suffered severe economic depression in the 1930s. Many areas in the South and Midlands experienced moderate prosperity. These were areas associated with new industries such as car manufacture and electrical goods. Cars were manufactured in the Birmingham area, Luton and Dagenham, near London. Unemployment in these areas was far lower than the areas associated with the staple industries.

COMMENT

This paragraph offers a link to other areas where depression was not the norm. It offers a balanced approach to the question as is expected where there is a command instruction of ‘how far’.

LINKS TO 

Britain 1895–1951, pages 97–101.
Also, large areas of the South and Midlands experienced a major construction boom in the 1930s. Large new suburbs were built in the West Midlands and the London area. Construction provided thousands of jobs and helped 

maintain employment.

COMMENT

This paragraph contains evidence of why parts of the country did not experience a severe economic depression. However, the evidence contained in this paragraph should have been included in the previous paragraph.

LINKS TO 

Britain 1895–1951, pages 97–101.
Also, the 1930s saw differing degrees of hardship. The worst years of the 1930s were in the early part of the decade from 1930 to 1935. In 1934, the government passed the Special Areas Act, which gave government financial help to the areas worst hit by economic depression. Also, in the late 1930s, Britain began to rearm. This development provided employment in ship building and the production of armaments. These developments created more employment and helped get Britain out of economic depression when war began in September 1939.

COMMENT

This paragraph offers a new dimension to the answer. Pervious paragraphs dealt with areas and industries. This paragraph evaluates the question in terms of time by pointing out that depression was more a feature of the early 1930s than the late 1930s.

LINKS TO 

Britain 1895–1951, pages 97–101.
Therefore, the economic depression did not affect all of Britain nor did it affect the whole of the 1930s.

COMMENT

This conclusion offers a very general assessment. It would have been better if it had contained more links with the arguments put forward in the answer.

Level of Performance

The answer shows explicit understanding of the demands of the question. It develops a balanced argument backed by a good range of appropriately selected evidence. However, there were narrative-descriptive sections in the answer and the conclusion dealt with only one aspect of the question.

This answer was awarded a mark in level 4: 20 out of 24 marks.

OCR A

F961 B
Domestic Issues 1918–1951

The examination time is 1 hour and 30 minutes, during which you will be expected to answer two essay-style questions. You should therefore spend approximately 45 minutes on the question below.
How far was the Labour Party general election victory of 1945 due to the desire for political change by the end of the Second World War?

(50 marks)

In July 1945, the Labour Party won a landslide in the General Election. For the first time in the party’s history it had an absolute majority in the House of Commons. The victory seemed all the more surprising because Labour defeated the Conservative Party under the leadership of Winston Churchill, Britain’s charismatic wartime leader.

COMMENT

This paragraph offers a clear link to the question. It places the issue in historical context and states that the Labour victory was seen by many contemporaries as a surprise.

LINKS TO 

Britain 1895–1951, pages 212–214 and 241–243.
One of the reasons for Labour’s victory was the desire for major social and economic change. The experience of the Depression of the 1930s and the Second World War had transformed Britain. Between 1939 and 1945, the whole country had been brought together in a superhuman effort to defeat Germany, Italy and Japan. Having made enormous sacrifices, many Britons wanted a more egalitarian society. To many, the Labour Party manifesto offered a clear way forward. Labour promised to set up a welfare state, offering state assistance to the unemployed, the sick and elderly. In 1942, the Beveridge Report was published, which offered the basis for what the Labour Party proposed. However, Churchill was opposed to the Report. As a result, the Labour manifesto can be seen as a major cause of Labour victory in 1945.

COMMENT

This paragraph is linked directly with the question. It addresses the assertion in the question directly. It provides an analytical statement followed by supporting factual evidence.

LINKS TO 

Britain 1895–1951, pages 212–215.
Another important reason for Labour’s victory was poor campaigning by the Conservatives. Churchill may have ‘won the war’ but the Conservatives had lacked a clear domestic policy. This was combined with a lack of effective campaigning. Many Conservatives thought that Churchill’s leadership in the war would be sufficient to ensure victory in the election. This proved to be unfounded. Also, the Conservatives spent very little on publicity. Only £3000 was spent compared to £35,000 in the 1935 election. By the time the election campaign took place, the Conservatives had very limited local party organisation. This contrasted with Labour who ran a very effective and organised campaign.

COMMENT

This paragraph offers a link to other factors which contributed to Labour victory. It highlights Conservative deficiencies as a factor in Labour victory.

LINKS TO 

Britain 1895–1951, pages 212–215.
Churchill also contributed to Labour victory with a major ‘gaffe’ in the campaign when he suggested a type of Gestapo police force would be required to implement Labour policy. Throughout the campaign, Churchill’s speeches lacked clarity and purpose. This contrasted with the focused Labour campaign for the creation of a welfare state.

COMMENT

This paragraph continues the theme of the previous paragraph through specific reference to the role of the Conservative leader, Churchill.

LINKS TO 

Britain 1895–1951, pages 212–215.
In contrast to Churchill, the Labour leader, Attlee, looked statesmanlike. He had been Deputy Prime Minister in the war and had deputised as prime minister during Churchill’s lengthy journeys abroad. He was quick to blame the Conservatives for appeasing Hitler before the war. He also pointed out how the Labour Party had been an effective part of the wartime coalition that had achieved victory.

COMMENT

This paragraph offers a balanced view by contrasting Churchill’s performance with that of the Labour leader.

LINKS TO 

Britain 1895–1951, pages 212–215 and 241–243.
Therefore, the desire for social and economic change was a very important reason for Labour Party success but was, perhaps, not as important at the difference in the campaigns organised by the political parties during the election itself.

COMMENT

This conclusion offers a clear assessment of the question. Having put forward evidence, it suggests that other factors associated with the election campaign were more important than the issue mentioned in the question.

Level of Performance
AO1a
This answer recalls, selects and deploys historical knowledge appropriately in a clear and effective way. Historical terminology is appropriate and the answer is well structured.

This answer was awarded a level 1a: 15 out of 16 marks.

AO1b

There is clear and accurate understanding of the key concepts relevant to the analysis made and the answer is consistently analytical with only some areas requiring more focus.

This answer was awarded a level 1a: 15 out of 18 marks.

AO2b

The answer engages consistently with the question and shows a good analysis and evaluation of different factors.

This answer was awarded a level 1b: 14 out of 16 marks.

Total: 44 out of 50 marks

